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def plus2(num):

num=num-+2 } { R D EZRERD ]

return num

number=input(BHZE AL TZEI L)

number=int(number) 4 XA FOY9Sh ]
answer=plus2(number)
print(answer)
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def plus2(num): <
num=num-+2

return num

input(CEBHEZANLTEE L)

r=int(number) | [ orms plus2 wmpos ]
answer=plus2(number) \

QRI# plus2 ATERUERZERL

print(answer)
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def plus(num1, num2):

ans=numl+num?2

return ans

number1=input(O&EDHDEFHZE AL TIEELY)
numberl=int(number1)
number2=input(n7zDHNEHZE AL TLIZELN:)
number2=int(number2)

answer=plus(numberl,number2)
print(answer)
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def plus2(num):

num=num-+2

return num

foriin range(3):
number=input(E#HZEAANLTIZET L)
number=int(number)
answer=plus2(number)
print(answer)
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def plus2(num):

num=num-+2
return num

def square(num):
numM=numnum
return num

DRI plus2 =IFUH L.
number=inputCEHEANLTIZE W) ZORREEL answer [CRAL TR
number=int(number)

answer=plus2(number)

print(answer) } QR square ZILUH L.
FOREREZTEH answer [ZRA U &R
answer=square(number) }

print(answer)
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lcalc agel&UFET,
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birth year=input(E£ENFEE= AALTLZEL) FgiE BT,

birth year=int(birth year)
this year=input(SEDAEEZE AL TLIZTL)
this year=int(this year)

age=calc age(birth year, this year)
print( &R 7z1E’ ,a9e, m CJ, )
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result=evaluate(score)
printC¥IEIL , result, T9”)




